Jonckheere 7€

TIAREE
20204£3 H 17 H

1 BM

Jonckheere BE %179 .

2 (ERE

import sys
sys.path.append("statlib")

from xtest import Jonckheere_test

Jonckheere_test(x, g, correct=FALSE, alternative = "increasing", verbose=True)
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import numpy as np

x = [153, 153, 152, 156, 158, 151, 151, 150, 148, 157, # gl
158, 152, 152, 152, 151, 151, 157, 147, 155, 146, # g2
153, 146, 138, 152, 140, 146, 156, 142, 147, 153, # g3
137, 139, 141, 141, 143, 133, 147, 144, 151, 156] # g4
g = np.repeat(range(4), 10)

import sys
sys.path.append("statlib")
from xtest import Jonckheere_test

a = Jonckheere_test(x, g, alternative="decreasing")

Jonckheere test
J = 446.5, E(QJ) = 300, V() = 1705.1, Z = 3.5479, p value = 0.00019
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y = [137, 139, 141, 141, 143, 133, 147, 144, 151, 156, # g4
153, 146, 138, 152, 1460, 146, 156, 142, 147, 153, # g3
158, 152, 152, 152, 151, 151, 157, 147, 155, 146, # g2
153, 153, 152, 156, 158, 151, 151, 150, 148, 157] # gl

np.repeat(range(4), 10)
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a Jonckheere_test(y, g, alternative="increasing")

Jonckheere test
J = 446.5, E(J) = 300, V(1) = 1705.1, Z = 3.5479, p value = 0.00019
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import sys
sys.path.append("statlib")
from xtest import Jonckheere_test

a = Jonckheere_test(x, g, correct=True, alternative="decreasing")

Jonckheere test
J = 446.5, E(QJ) = 300, V(J) = 1705.1, Z = 3.5357, p value = 0.00020




